Geometry (E) — Circle Power Theorems Name: KEY

Problem Set A

1 Solve for x, v, and z
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2 T is the midpoint of QS, PT = 8, and
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a Find TR. (o)

b Find the diameter of ©O. L //}
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Geometry (E) — Circle Power Theorems

w;;oblem Set A

LL-ED= 6Y.25

¢ Ep = 16

5 AB is a diameter of ©O.
Find the radius of the circle.
£ Ny ( Yt d)

3¢ = (4 +4d
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4 if AE = 6.4, AB = 8.9, and CE = 1.6, find ED.

CD is tangent at D, CD = 6, and BC = 4,
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QD = 14
Find: PD and EQ
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8 Given: AP=3,PQ=50QB=7CP =2,
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Name:

Problem Set B
1 T is the midpoint of QS, PT = 8, and e 8

QS = 40. QLo s

a Find TR. ([ g )

b Find the radius of ©O. Yt
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Geometry (E) — Circle Power Theorems Name:

Problem Set B
3 Given: AP=3,PQ=50QB=7CP =2, A
QD = 14 /’}g);\;}
Find: PD and EQ . e : \\Y/ \
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4 Solve for x. AN
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5 Given: TZ =86, YZ =4, 8X =3, WX =1
Find: XT




Geometry (E) — Circle Power Theorems Name:

Problem Set C
1 An arch supports a pipeline across a riv- //«W““\
er 20 m wide. Midway, the suspending Lo B 1'%
cable is 5 m long. Find the radius of the A— . “S
arch. pe 0 3
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2 The diameter of the earth is approxi- Ho
mately 8000 mi. Heavenly Helen, in a 10° | ey
spaceship 100 mi above the earth, sights //”’ h E
Earthy Ernest coming over the horizon. o yov \
Approximately how far apart are Helen \ G
and Ernest? ¢ f}
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Problem Set C
3 Given: AP=3,PQ=5QB=7CP =2 Iy
QD = 14 ANpND
gm e il % \\ ‘; ’%
Find: PD and EQ g RS
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4 The radius of each circle is 3. Triangle
WXY is equilateral. Find WY.

257
6 V.

y
Z4-(c-9°
[ (5 z




